a(6 @) (rad)

(RN
<

a(d cot(B))

1 2 3
TP n (PCA to beamline)

0 1 2 3
TP n (PCA to beamline)

—— DM _orgal_Ste] ttar-piraset-rewgeomnT
—o— D M:mf(%lt ste ar-| ﬁjasel newgeom
—— D Mj@nqle —ste) 2‘tt ar-phasel eom
—.—DM_a ttbpaslnergﬁm
—— DOM™p P neric_step2_ttbar-phasel-newgeom
IS IS
o o
= =
—~ —~
< -
o]
e
5 T
©
107
010% ol0t! :
T = :
o ¥ 1.05[ 1 N
i g
0.95 : . : : : 0.95 : : . : :
=3 2 =3 -2 -1 0 1 2 3
TP n (PCA to beamline)
~ 1
o N
s
o
()
=
©
1071
910%1 .
=
@
bid
0.95
= 3

TP n (PCA to beamline)



	Contents
	Page 1


